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1s522s2 To Lewis Dot
CAeMis+ry: http://genest.weebly.com

Stop in for help every day at lunch and Tues,&Thurs after schooll

1. Rewrite the following Noble Gas Abbrevi tlons e lonie?:j@of elec?o (‘o uo (1s* 2¢°
etcetera) i |5225 2P el

o lg 23"2 2 =3 e]tc')rl'a ng

c. Write the Lewis Dot symbol for each of the two Qoms above:
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2. fora NEUTRAL atom with the following electron c%nﬁguration:
2
\1522522 p°3s5°3p°4s°3d*%p
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Draw aBofforbltal diagram (the cirdles) Write a Lewis dot This atom has I valence
o diagram (Letter and e-
dots) therefore it is (stablg/ unstable
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3. fora NEUTRAL atom with the following electron configuration:

15*25*2p°35?3p°4s’

Tell how many e- are,in each energy level
lst, 2' zndu_g 3rd, 8 41]1, \ 5[]1_ O
This atom has __pn@_ valence e-

therefore it is (stable / @E}} )
Write a Lewis dot diagram (Letter and dots) o K

4. With the help of your Rewrite the following Noble Gas Abbreviations in the longer version of electron
configuration (1s* 25 etcetera) ] Y
a. [Ar]4523d'°4p 2522P6 *ZS g'PcLlS 30‘ B L( P

b. [He)2s2p’ I(" 251215’
c. Write the Lewis Dot symbol for each of the two aloms above:

Se‘ :F3




5. fora NEUTRAL atom with the following electron configuration:

15°25°2p°35?3p°4s3d"%4p°5524d'%5p°

Tell how many e- are in each energy lew.l

12 28 3% g B 55

vo
Thisatomhas 5 valence e-
therefore it is (stable / @ ° SL) o
o

Write a Lewis dot diagra etter and dots)

l 6. fora NEUTRAL atom with the followmg elc.clron conf gurauon

1s2s*2p°3s’ 3p°4s°3d® — Q_cg

aTrNs
Tell how,many e- are in each energy ley
é 4lh

15t /& 2nd 3rd.) 5th. 0 'l k(x{?
This atom has L valence e- = ?Sb
lh'm.'cfore it |\ (stablg / u@blc ) 3 : M(\

Write a Lewis dot diagram (Letter and dots)

7. Do three things for a NEUTRAL atom with the following electron configuration:

[Ar]4s?3d?
With the help of yo lablé te th onpd'ersxon of the a&e electron configuration.
A 2 Bt

Tell how many e- are in each energy level

% 2 2B 3410 4.2 50O
Thisatomhas 2. valence e- p
therefore it is (stable / u@blc ) :—ri

| Write a Lewis dot diagram (Letter and dots)

8. foraNEUTRAL atom with the following electron configuration:

Tell how many e- are in each energy level

lSl: 2nd, 8 3rd: 4lh: @ Slh: O
This ato%has Q valence e- @ -

therefore it is (stable / u@)le ) ” Py
Write a Lewis dot diagram (Letter and dots) ) s «




